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1. (@) “Despite being conceptually unsbund..pa;/back .p_eriod is ve& p.Opl-Jlé.l'r in b‘usinessésa .
criteria for a551gn1ng priorities to 1nvestment prolects Explam o o 5 |
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ABC Ltd. is trying to decide whether it should replace a manually operated machine -

with a fully éutomated -machinef of the same version. The existing ‘méchine purchased 5

years ago, has a booi{ yélué now ¥ 1,00,000 and remaining life of 10 yéars. The -exiSting

machine can now be scrappé_dlgwa'y for ¥ 50,000. There is a proposal to replace the

exisfing'machine Wiﬂ] the néw automatic machine \jvh'ich‘ has a cost price of ¥ 3,00,000.
The riew machine has expectéd to have 10 years of life with a s_alv;ge value of 60,000.

"The new machine have a cest savings in materials of ¥ 50,000 per yeaf. The tax rate
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i-s'40% and cost of capital is 11%. Dépreciatibn would be proVided as per straight line
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90,000 for the next 5 years for prOJect B.
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t‘lncorporation of Time value of n10ney helps ﬁnancial manager. in taking better decisions.”
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A company. is considering asto which of the tWo .mutually exclusively projects it should

undertake. PI’O_]eCt A costs T 2 OO 000 and PrOJCCt B costs ¥ 2,20,000. Both pro_|ects

~ have the same life of 5 years. The company ant1c1pates a cost of capltal of lO percent

and the after-tax cash ﬂows are T 80, OOO. 4 80 000 4 60 000, ? 60 000 -and T 20,000 -

for the next 5 years for pl‘OjeCt A and .50, OOO T 50, 000 X4 60 000, T 90, 000 and | L

.4

(@) Determine Pay Back (PB) and Prdﬁtability Index (P1) for both the projvects. .

(i) Which project would you recommend ? | v “_' o 10
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) _a%faqnﬁvﬂam A a‘)fm?soooo ¥ 80,000, 2 60,000, ?600003?1??20000
] 'amvﬁ?ﬂamB %mmmmﬁ%ﬁv{q%soooo 750,000, ?60000

? 90,000 ai‘r{f% 90000 %‘ |
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“New.issue of capltal is costher than the retamed earmngs ” How and what makes these
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®) ' The following 1s,§hg.qapiga1 structure of Blue Dart cOg‘Qbany' Ld. ‘;": -

. ,Pé'rticula’% | - ‘ Amouh't“(‘in:-?’)' -
Equlty Shares :"’203,0‘00 shares o/f .?‘..100 each - " o ' :.2()’0(),(;;00_, ) .. ..
'Q%Ppefefence.:‘shalree Of'?.iloo' egqh E : | - '5,00,QOQ
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The .,rrl-larket_ pric;e of the cb_mpé_hy’s shares is T 125 and it is éxpected~that a

dividend of 712 ‘per share would be declared aﬁér 1 year. The dividénd growth réte

- is 8%.
*. . - . - 3 N . - \ ‘ ..
()" If the company is in the 40% tax bracket, compﬁte the weighted average cost of

capital.
tfi)/ Assuming that in order to ﬁnanc_;e an expansi_oﬁ plan, the com'pény inénds to Bbrréw '
a fund of ¥ 20_,00,000 _,be‘ari.hg 11% rate of inte;gst.-whai w'iu bé the éompany»’s
reviséd weighted average'cost of capit?lv? This ﬁﬁancipg deci_sidg is expected to\
increése dii/idénd f;dm T12t0% 15 per share. wae&er, the market ';;r.ice of
Equit}" sliaré is, e);pected t§ deéline fr;)? T125t0 % 110 ée’r share. . 10
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-Distinguish betvyeen— _opc:rat'ing‘ leverage and financial le\}erage.' How the two leverage can

. bemeasured"‘ o R 6
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- (d)

" equity shares will be issued at ¥ 120 per share.

07Ty 5536
Tata Steel Ltd. has equity share.capitalzc;f % 50,00,000 (face value X 100) and 10%
Debentures of ¥ 50,00,000. To 'meg:t'thé expénditure of an expanéion program, the company

wishes to raise ¥ 30,00,000 and is having the following two alternaﬁve sources to raise
| , : ;_ . ~
the funds :

Plan A : To have full‘m,oney from the issue of Equity shares. i
Plan B : To have 2 15,00,000 from equity shares issued and 15,00,000 ﬁbm’ borrdwings

from the financial institutions @10%.

- The company 4is'h'aving present earnings of ¥ 16,50,000. The corporate tax is 40%. New

’ .

) Find out the EPS and sélecta suitable plan out of fhe above two plans“to raise

the required funds. |

(#) Find out the indifference level of EBIT bétween Plan A and Plan B.- 9
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The follow'ing‘ data relate to a ﬁrmm the cotton textile industry .

v

~ Number of sharé-s_oﬁtstandirig -, PR o I‘,O_O-,OOO' .

. Eamingsofthe Company 75,0000

 Dividendspaid - 7400000
Rate Qf rc"turn on inveStmént ' o o h O 12%

Price Earning ratio - o / . o 10

If Walter’s M(_)c'l'el‘is used, are you satisfied with the current ‘dividend"pq)liCy of the

compa!i‘yvg? If not, 'whét -shoulAd be the'optimal diVidgnd_payout ratiq ?7 - 8 _
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(b)
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The MM hypothe51s reahstlc w1th respect to capltals structure and value of the ﬁrrn in

- actual practlce If not what are the main weaknesses ? T
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“Issue of bonus shares does ndt affect the liquidity position of the coxﬁpany.”-Comrheht
on the above in the light of effects of bonus o o | 5
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(d) Gold Textlle Ltd. has outstandmg2 lacs shares selhng at ¥ 50 per share The company '

s consrderlng to pay a d1v1dend of ? 5 per share at the end of the current year The

capltahzatron rate for the rrsk class of the ﬁrm,1_s_20%. _Usrng Modlghanr an_d ‘Miller’s

Model you are required T
(@) - To calculate the market price-ef-_ the share at th'e end of the current y:ear if
(@) dividends. are paid and S

(b) - dividends are not paid.-

- (@) To determine Vthe number cf shares to' be issned if the compary earn$ ¥ 20 lacs, °

+

pays dividends and makes new 1nvestments of ? 32 lacs. B N 10
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“Workmg capltal management deals w1th de01s1on regardlng the appropnate mix and level

of current assets and. current 11ab111t1es ? Explam the statement ' : 5

Eﬁ?ﬂaiﬁtwa Wﬁaﬁxmwﬁaﬁ&rﬁnw@m@%
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A P_ro forma co_st sheet of a company provides the'folloWing ‘partictlla'rs 3

Estimated Cost per unit,:

Ra\avaaterial“ c ﬁ, - ?..‘10_0
DirectLabour‘ | | | ,‘ .‘ | ’ T 40
(.)verheadsl ‘, R ‘. } | | " '. ¥ .60
Total Cost I | ,' _ A' oz 200

(tdditional Info;matibn :

. Selling“i‘)rice" % 250 perl unlit = .. | - o .
o Level of ac-tivity 1,04,000 units of prociuctioa per armum

e Raw mat_eria‘l. in stoek,-ave}age 4 weeks

e Work in progress, at/erage 2 weeks

¢  Finished géods in stock,. avefage 4 weei{s_

PTO.



0 ) Credlt ai’ioi:yéd by su.p‘pili'er, average 4‘\§eek§ i
. . Credivt:alllov\yed to 'lclie'btbirs, average 8 '-weeks |
| o | Lag m paymeni of _\yage's?faver'age;Z"week‘s
o Cash af bank aist ekpected fe Be lO%of AC;felssi'vWOrking 'capi't'al. |
Pre;luc't_i.on i.s»;(';arried on e;/eﬁiy tﬁrouéhout the. year (52 Week‘a) andwages and overl‘l_eac‘ls‘ |
~.acerue sumla1y25% of the sales are on cash b‘a.s'_‘fs.'-You-are re'q.aired to prepare ;a statement

’

oftheworkmgcapltalrequlrement T | 10
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- Cash Budget is an important tcchnique of cash -manage'rﬁent. Exﬁlain. S -

g a, I e A T TR T ¥ mﬁﬁm |

-

Supreme Co. Ltd. has present annua_[ sale is ¥ 40 lacs. The sellin.gbprice‘ is T 20 per |
unit, variable cost is ¥ 12 per unit and vannualf fixed cost amount to ¥ 5',.00,‘000. T he
present credit period is one month-and 1% bad debis to sales. The compahy is co_ntein—

| P.‘"f.O.



My L 5536
- plating an increase in the credit pefiod to either 2 months or 3 months with a view to

increasing sales. Some other details are as undef :

. 1 n_lonth -2 mnnths- -3 midnths . |
'Increas‘e"in sales by',._ . - o= 10% 30%
% of bad'ldebts-to'-_salés L 1% ; . 2% 5%

'The company expects» return @ 20% on 1nv§stment leed cost w1ll increase. by
'z 75 000 when sales wxll 1ncrease by 30% Whlch credlt pOlle should the company .
adopt? - . E o LT 1.0"':. |
| wmmﬁmmfﬂaﬁuomﬁ% .famaana
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Ecki fiﬁﬁ a%wﬁ e f--10%’ L 30%
-_ﬁaﬁm mwwm . 71% = 5%
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(a) « Fman01al Management is nothmg but manager1a1 dec131on makmg in asset- -mix, capltal

-(b) |

mix and proﬁt-allocatlon » Comment. S o ER 7
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Pﬁzer Industries Ltd. uses 6,000 tonnes of steel in a year. The purchase price is ¥ 15,000

per tonne. vHovwe\‘/er the supplier offered a'discount of 1% dn priee per tonne if nrder

_size is at least 200 tonnes. The ordermg cost is T 3 600 per order and carrylng cost

is 20% of i 1nventory value :

- () Find Economic Order Quantity.

»

() What should be the orderrng policy of purchase manager 9 8
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